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QUESTION 1

In which two ways does FortiGate learn the FortiManager IP address or FQDN for zero-touch provisioning? (Choose
two.) 

A. From a FortiGuard definitions update 

B. From the central management configuration configured in FortiDeploy 

C. From a DHCP server configured with options 240 or 241 

D. From another FortiGate device in the same local network 

Correct Answer: BC 

https://www.historiantech.com/zeroish-touch-provisioning-with-fortimanager-explained/ 

 

QUESTION 2

Refer to the exhibit. 

Multiple IPsec VPNs are formed between two hub-and-spokes groups, and site-to-site between Hub 1 and Hub 2 The
administrator configured ADVPN on the dual regions topology 

Which two statements are correct if a user in Toronto sends traffic to London? (Choose two ) 

A. Toronto needs to establish a site-to-site tunnel with Hub 2 to bypass Hub 1. 

B. The first packets from Toronto to London are routed through Hub 1 then to Hub 2. 

C. London generates an IKE information message that contains the Toronto public IP address. 

D. Traffic from Toronto to London triggers the dynamic negotiation of a direct site-to-site VPN. 

Correct Answer: BD 
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QUESTION 3

Refer to the exhibit. 

Based on the output, which two statements are true? (Choose two ) 

A. The diagnostic output presents only of the policy routes 

B. The all_rules rule is the implicit SD-WAN rule in place 

C. There is more than one SD-WAN rule configured 

D. At least one policy route is implemented and in effect 

Correct Answer: AC 

 

QUESTION 4

Refer to the exhibit. 
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Which two statements about the IPsec VPN configuration and the status of the IPsec VPN tunnel are true? (Choose
two.) 

A. FortiGate creates separate virtual interfaces for each dial-up client. 

B. FortiGate creates a single IPsec virtual interface that is shared by all clients. 

C. FortiGate maps the remote gateway 100.64.3.1 to tunnel index interface 1. 

D. FortiGate does not install IPsec static routes for remote protected networks in the routing table. 

Correct Answer: BC 

If net-device is disabled, FortiGate creates a single IPSEC virtual interface that is shared by all IPSEC clients
connecting to the same dialup VPN. In this case, the tunnel-search setting determines how FortiGate learns the network
behind each remote client. 

 

QUESTION 5

Refer to the exhibit. 
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Which statement about the command route-tag in the SD-WAN rule is true? 

A. It enables the SD-WAN rule to load balance and assign traffic with a route tag 

B. It tags each route and references the tag in the routing table. 

C. It uses route tags for a BGP community and assigns the SD-WAN rules with same tag. 

D. It ensures route tags match the SD-WAN rule based on the rule order 

Correct Answer: C 
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